Name

Math 3

DO NOW

Given m//n with transversals p and g, identify the relationship between the two indicated angle:

v

W2l and A5

3N L2 and L10

5) £ and Z14

7y £3 and 15

9y 26 and 49

2y 23 and 48

4y £7 and L2

6) £5 and ZL9

8) L2 and Z13

10) £3 and Z£11

m
6 71 8
9 10 112 .
L P
13\14 151 16




Name
Math 3
What are the Parailel Line Theorems?

A

1 /4
s /6

#1-8: Using the figure ai the right, < » b

find the measure of the angle if a// b : 8 /7

) mLlw=45 mibo="? 2) m£3=065 ms6="

3 mL3 =35, mdS=" 4 mL4=130, mZ1 ="

5y m£l =45, ms8="7 6) mL4=126, mz6="

7y mL2=115 ml6="7 8Y mL4 =115 ms5="

#9-12: Using the figure af the right, find the value of x
and the indicated angle ifm// n :

9 mL4d=3x-10, mL2=x+80, mL4d="7 10) mLl=3x~10, mL2 =2x+40, mL3=7

11y mLT =5x~20, mL5=4x+57, mL] =7 12) m&l=5x—-40, m£3=3x, mL2=7?




#13-18)If a//b, and lines @ and b are cut by transversal ¢,

a) Identify the relationship between the angles b) Find x:
13) 14)
/ ﬂSx +30)°
d < > < *
(x y /
70°
h < > < >
/ / (x+ 30)°
c ¢
15) 16} ¢
d « /‘ B /3):1‘ 32y°
(3x + 20)° < »
(x + 40)° A 12)°
b = / > < >
c /
1 . 18
7 ¢ : (5 +20)° /
/ d 4 B
ad < P
(5x-10)°
b < #

A
4

(2x+20)° /

/ (2x+ 509°
c




Given AB/ICD  with transversal E}?
1} What angles are congruent to £37

Use the figure to answer the following questions:

23 1f m£5=2x+10 and ms4 =5x 50
then find mZ5

NI mL7 =5x+20 and m£L4=2x+80
then find m<4

DI mLS5=4x+20 and m3 =x+50
then find m28

5yIf mLl=5x+30 and m£8 = 2x +60
then find m£7

&) If mLd:ms6=5:4
then find mZ3

<
7y If mL8 :—;—mzf2
then find m.24



